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How nannies can help 
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Justifications 
 
0 

The first paragraph sums up the dilemma mothers face when they go back to work after having a child. 
They need to hand over their children to either a childcare center, a babysitter, or they hire a qualified 
nanny. Having a nanny at home has certain advantages for working mothers, which the text explains. 
Nannies “can offer assistance” and “can help” working moms through various challenges. Thus, “have 
access to when opting for center-based care” is the only answer that fits the gap contextually. 
 
1 

This paragraph deals with problems working mothers have to face concerning picking their children up 
from school and taking them to play dates or extracurricular activities. These activities take place at a 
time in the afternoon when working mothers are still at work. The challenge they have to face is that their 
child’s travel will “most likely occur during regular business hours”, which is therefore the only option 
which fits the gap contextually. 
 
2 

This paragraph deals with children’s dietary habits, and the first sentence describes what children 
generally expect in a daycare center. In contrast, nannies will cook and prepare meals for the kids. Thus, 
it is clear that “prepare meals for the children in her care” is the only answer that fits contextually. 
 
3 

This paragraph deals with the support nannies can offer regarding studying and doing homework with the 
children in their care. The challenge for working moms is that they are at work when their children return 
from school, and if their kids do their homework right after school, they aren’t at home yet. Hence, 
“almost certainly be at work” is the only answer that fits the gap contextually. 
 
4 

This paragraph deals with how nannies can help working mothers when they take over certain household 
chores. The first part of the sentence states that “Nannies typically don’t perform any household chores 
that aren’t directly related to the care of her charges”. Some nannies, however, make exceptions to this 
rule. After the gap the advantages of coming home to a clean house are described. Therefore, “make 
exceptions to that rule for an increase in salary” is the only answer that fits the gap contextually. 
 
5 

This paragraph deals with how to manage household repairs while not being at home during the week 
and during working hours. The first sentence explains what service people and repair technicians will or 
will not do when no one is at home. When there is a nanny in the house, service people will enter the 
house and do their job. Thus, “not enter an empty home” is the only option that fits the gap contextually. 
 



6 

This paragraph deals with the children’s need for “one-on-one attention”. It says that “individual attention 
on a regular basis” is something that is hard to find in a “crowded daycare center”. Qualified nannies, 
however, can offer “personalized care”. Thus, “receive personalized care” is the only option that fits the 
gap contextually. 
 
7 

This paragraph deals with the importance of active play and the issue of limiting kids’ screen time. The 
first sentence says that “an experienced nanny” “understands the importance of active play and limited 
screen time”, so mothers do not need to worry that their children are only inactive and looking at screens. 
It’s self-explanatory that the kids should not escape the daycare center, but “the pitfalls of the sedentary 
lifestyle”. Thus, “ensure that your kids escape” is the only answer that fits the gap contextually. 
 
8 

This paragraph deals with the problems working mothers face when their children are not healthy. 
Daycare centers do not accept children who are ill, so “not accept a child with a fever or obvious signs of 
illness” is the only answer that fits the gap contextually. 


